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Vocab Questions Overview

Vocab Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar
to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate
the concept used in Vocab Questions.

Question

A word has been given in the following question. In response to the highlighted word, sentences have been provided in the
options below. Find the appropriate statement representing the given word. Beyond

Difficulty : Moder ate Average Time: 32 Seconds

Options :
1. We compared and beyond the two characters of the story.

2. What happens beyond that is between the Court and the Lawyers.
3. Careful contrast of the twins beyond shows some differences.
4. That is the only difference beyond them.

5. Noone shall judge anyone beyond themselves.

Solution

The correct answer is Option 2, i.e. What happens beyond that is between the Court and the Lawyers.
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The question is to find
out the correct
statement representing
the given vocab.

The word "Beyond"
means at or to the
further side of.

Among the given
statements, Option 2
seems to portray the
exact denotation of
the provided word.

Hence, the correct
answer will be
option 2, i.e. "What
happens beyond
that is between the
Court and the
Lawyers."
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